AERSEESW SN RYSEDL
mE: YT MRS BE
ciel: NARHLH | CERE
4. 2A - BH . SA(SH) - ARAY - BES 0l &t i HIDEZ
[Ea=k=g); 79,236,320 41,980,187 37,256,133
= 2,928,000
[ 25,176,200
t 33,700,000
= 17,432,120
e HEsE @2 36,498,200 36,280,500 217,700
= 2,928,000
= 25,013,200
& 8,557,000
Aoged J|gt=s 6,682,400 7,213,800 A531,400
[ 5,699,200
S 983,200
NS HY N =8 11,000 17,000 26,000
201 &gr=2E | 6,000 12,000 26,000
01 AtR2t2ld] 6,000 12,000 26,000
OXSZged 3|9 Izl & ?Hs =Y 6,000
202 O 5,000 5,000
01 =LHAHLI 5,000 5,000
OXsdged 2 gREe & 883 5,000
KNS AHH 2SXA(=2) 108,400 114,000 5,600
= 54,200
& 54,200
201 82 & 23,400 13,000 10,400
[ 11,700
= 11,700
01 AtR2teld| 23,400 13,000 10,400
OXISSHAMA 2| 23,400
s 11,700
= 11,700
202 O 10,000 10,000 0
= 5,000
= 5,000
01 =LHAbI 5,000 5,000 0
OXNSSHAMA 2E 5,000
= 2,500
S 2,500
04 =Hl=t0dbl 5,000 5,000 0
OXISS A A X0 5,000
[ 2,500
S 2,500
207 AIHE 46,000 62,000 216,000
= 23,000
& 23,000
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R B GR(S) - NIRAR - ofl &t i HIDEZ

01 H2ESHI 46,000 62,000 216,000
Oogdd 2 NHSHA A A2SSH 46,000
= 23,000
S 23,000

301 LetEd = 7,000 7,000 0
= 3,500
[ 3,500

08 212te1=2| 04| 5,000 5,000 0
OXNSHHAE S 213 L&Al ZAIHH 5,000
= 2,500
= 2,500

11 AAHIXIE 2 2,000 2,000 0
OXSgAEos 28 AHIXIE 2,000
[ 1,000
= 1,000

307 elztol 22,000 22,000 0
= 11,000
[ 11,000

6 283 12,000 12,000 0
ORIZOINEE = 12,000
s 6,000
= 6,000

o7 g=Xs2 10,000 10,000 0
O&l 2= AEs 10,000
[ 5,000
= 5,000

AHARSET 22X (RIEERLY) 300,000 350,000 250,000

308 AFXIEHMSOIE 300,000 350,000 /50,000

11 SISO eHE & X AS A 300,000 360,000 /50,000
OHANRSES dHg=z & J1= N 300,000

HE FHAXS MBHA HEAIH(=1) 4,451,600 3,537,200 914,400
s 4,040,000
= 411,600

403 XXIEHMSA=01A 4,451,600 3,537,200 914,400
[ 4,040,000
S 411,600

01 AXISHHA2E X 4,451,600 3,537,200 914,400
OsHE FHANS HE02 HZA 4,451,600
= 4,040,000
[ 411,600

Al FX S ME0A IHZAS(21) 1,811,400 3,195,600 1,384,200
= 1,605,000
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LR
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ

= 206,400

403 AXIEHMSA=01H 1,811,400 3,195,600 1,384,200
= 1,605,000
[ 206,400

01 AXIEHHA= 22X 1,811,400 3,195,600 1,384,200
OZAl FHAEXNS A0 WAL 1,811,400
[ 1,605,000
= 206,400

NS HEIBAIE =5 9,996,800 4,638,700 5,358,100
= 2,928,000
S 7,068,800

FEOIZSHREFHIS & EEEML(21) 2,928,000 2,505,000 423,000
= 2,928,000

403 MRS AH201H 2,928,000 2,505,000 423,000
= 2,928,000

01 MXIHHA=ZE X 2,928,000 2,505,000 423,000
O=FellzsHAE=8NS S Nd 2,928,000
= 2,928,000

NS EAS X2 6,803,800 2,133,700 4,670,100

201 LEr2E | 10,000 11,700 A1,700

01 At2:2telt| 10,000 11,700 1,700
OXNSINEA 2| =29 10,000

202 04| 7,200 8,000 A800

01 =LHAbI 7,200 8,000 A800
oXgie g2 =4 7,200

403 AXIHHS K201 6,786,600 2,114,000 4,672,600

01 AXIEHA=E X 6,786,600 2,114,000 4,672,600
odg=st 2elite 2EAE 6,786,600

JASENXE FAHEX B3 JUIAI 265,000 265,000

403 XIS H=0lH 265,000 265,000

01 AXISHHA2E & 265,000 265,000
O A ZBHXZ WK 265,000

NS ze e 19,814,000 24,428,000 A\4,614,000
= 19,314,000
= 500,000

KSOHL X (LEETE JIEAIEAIY) (=21) 17,198,000 18,027,000 829,000
= 17,198,000

403 MXIEHSHE01H 17,198,000 18,027,000 829,000
= 17,198,000

01 AXISHA=E X 17,198,000 18,027,000 /829,000
OZHZ=AEH JIEAIZAIS 17,198,000
= 17,198,000
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= JIE XA PN IEZEDL
B YAT HRS FE
2l XIS (EEREED
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
e =X AIZE(=21) 2,116,000 3,201,000 21,085,000
s 2,116,000
403 XXM S KH=201H 2,116,000 3,201,000 21,085,000
s 2,116,000
01 XtXIEHHI A= 2 = 2,116,000 3,201,000 21,085,000
oxgGxe AEXA AtE 2,116,000
s 2,116,000
HEXIGD|BEAI S X2 (M BALY) 500,000 500,000 0
403 XX SHHMSKZ01A 500,000 500,000
01 XtXIEHHI A= 2 = 500,000 500,000
OH2std - oot 22E2 T4 (&3 500,000
NEIsEH =2 5,000 0 5,000
NEIsEH =8 5,000 0 5,000
201 LEr2AH| 3,000 0 3,000
01 At22telt| 3,000 0 3,000
OX=IsEHH FX 3,000
202 o4t 2,000 0 2,000
01 =WOdHI 2,000 0 2,000
OXNSZIsEH F& 2,000
LRE 48338 25 33,883,400 144,700 33,738,700
s 100,000
CH 33,700,000
< 83,400
QIRFM M5t =& 33,883,400 144,700 33,738,700
s 100,000
CH 33,700,000
= 83,400
IR S T2 UAIIA 47,400 50,700 A3,300
201 B2 AH| 6,000 1,000 5,000
01 AtR2teltl 6,000 1,000 5,000
OQ7ZA 2= YR FH 6,000
202 Ob| 3,400 1,700 1,700
01 =4I 3,400 1,700 1,700
oelzdA 25 gF = 3,400
307 2I2tol A 38,000 48,000 A 10,000
02 QIZtBAAIHE X 38,000 48,000 210,000
QODIHAICH B@AE CHA eI W= 20,000
ezl ¢ =l X 18,000
QIREA I Y CIMEIE X 6,000 14,000 A8,000
303 ZAZ 6,000 14,000 A8,000
01 Zat= 6,000 14,000 A8,000
OQ&E™ HIL & QMEIE XI&A 6,000
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